arcsec

arcsec

2](degrees)

o[m

50

1.4
1.2
1.0

~ 0.8

0.6
0.4

0.2
0.0

100
50

NGC 5937

-50 0 50
arcsec
&
FAR
)
e
i B ‘ |
-50 0 50
arcsec
-- A,
-- A
As

¢

Radius (arcsec)

\ -~ —
w ‘ 4’4 = P NS s

0 20 40 50 80
- ﬁ | ]
i N ]
[ Jr J,» ]
I ++ +++ . B
- H +,
-t ++++ H
: +++ PR e :
i n ]
; + ?
L JDF ]

0 20 40 50 80

0.20

0.15

10.10

10.05

-0.10

-0.15

-0.20

arcsec

— 300

“w 250

£ 200
e 150 ¢
= 100 o

0.3

-50 0 50
arcsec
hz= 1 .3”
hz= 1 .8!5
- h,= 3.0

| | |
20 40 60 80
Radius (arcsec)
20 40 60 80
Radius (arcsec)
Qb I Ag]ax “e
Qo & - Faz - -
Qpaeeer Ax(fogr) : -
rrcwnall)lo-corr . ATaX -
Qparow ;. Vien @ 23257 7 km/s
poarony . Som 1 2175

(anr-only) halo-corr -

( bar—only)halo—corr .

lap

Qr(Poar) * -

Q[llalo—corr (rbar) -

€.

V3 6um(Rop) 220.27 5250’ km/s
drVseum(0) © 336.67 555 km/s/kpc
Mh/M*(<Ropt) s

a. ...

v -

oo * omee



